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Grey line: exponential fit Peak flux: 4.219+/- 0.763 c/s/cm®
Black line: power law + gauss fit Fluence : 24.32+/- 4.67 clcm?
Dashed line: power law o ) ’
Duration: 15.69+/- 2.69s
\ Best fit model: 1.
| Best fluence model: 1.

’} Best duration model: 1.
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; Exponential fit é
= Expon.time: 4.27+/- 0.65 s (chi’red= 0.99) J
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; Power law fit é
= Power law index: -1.595+/- 0.180 (chi’-red= 0.99) 3
- + -
ST T IR B AYTINY T AR TR N A T T L NOE W IRGEASY R AR SRV AT AR IR Y
= n ﬁﬁw ﬁ MHH Wﬁﬁwﬁwﬂﬂ Hﬁﬁw ﬁﬁm WWﬁﬁﬁ*ﬁ“ﬂ“ﬁ*ﬁ*ﬁ“ﬂﬁwﬂw HH+ﬁHHMwHMwwﬁ MﬂﬁmﬁﬁuﬁjﬂwﬂHMW Wﬁﬂw ﬁ Iy ﬁﬁ%
i T T T T T T T T T T T T T T T T T T T T T T i
— Power law fit plus Gaussian (st.dev.= 39.49+/-***** g, fracgs= 0.00+/- 0.00) =
= Power law index: -1.582+/- 0.035 (chi’-red= 1.00) 3
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